Ak

O2MEDED  pg = TATLT M2

Oi#EE p=mv

my + mg

OFEBEE N mv' —mi = FAL
OIFRPZ DB v —vh = —e(v1 — v2)
OfsdfE  w="2

O x L fdEOMR v =rw
OMM eSOk v=2r
OFM & fdEOmM%  w= 2
O L FEHOMIE  nT =1
ORDIEE GEX ver)  a=2

OrInEE (M3 ver.) a = rw?
OEMHORE X F=ma

1)2

OEODIOREEX (EX ver.) F= m7
O@ELDHDOKRES (AHEE ver.) F = mrw

OMIEHOL o= Asinwt
OMEHOES o= Awcoswt
ORFEHOMESE o = —Aw? sinwt
OHEHOEH SR ma= —Ka
OhiEY TORM  T=2r %
OWIRY TORM T =21 é

Or 75 —0H 2% Jrosing = —&

Or75—om3mn L = —

miyms

OX6fFsl F=G

r2

OFESIDMET R ILF— U=-G

mims

VALY

ORA I - ¥ v LIV DEER] LY = —¢

ORETEA (WEE ver.) PV =nRT
OfRREFHFEA (5K ver.) PV = NkT
OFMY 2 VRBD 5% k:%%
OWMTX V¥ —  U=3nRT
OFFEZATEENT 5H W =PAV
O#vE » ERE N HEDBER Q =nCy AT
OB Y EEEIVHEAOER  Q =nCpAT
O Y —DlKEX  Cp=Cv+R
ORMELILI BEFHT)  Cv =R
OEEEIVIE (BFET3T) Cp=3R

5

OB DR y=Asin2r (£ — %)
Omrowu 5L _ M _ 72
sinr

vy Ny m

OB iR H 5 Fetk ([FALAH)

Bl = 3% 2m
OWeh g0 H 5 Zff (FALH)

gD = Ax (2m+ 1)
OFy 75— f={=f
OVyZoRX  +5=+
OOtk m=|L
OvrErh otk 1=nd



